
CROSSE/HEWITT SUPPLEMENTARY NOTES    

FEBRUARY 2025 

 

1. DRURY – 2 WAY 

1M opener in 3rd or 4th seat:- 

2M by responder = 5 – 9 pnts 

2C by responder = 8+ points and 4+ trump support 

   Responses by opener:-  

 2M = sign off; 
 2D = enquiry as to range? R bids 2M with minimum and a 

bid of any other suit shows maximum and a feature 
 2NT= has R a xx 
 Bid a suit above 2M as a short suit game try; 
 4M = enough for game but no slam chances; 
 3M = good strong hand, allowing R to cue bid. 

 
2D by responder = 9+ points with 3 card trump support 
 
Responses by opener:- 

 2M = sign off; 
 2NT = has responder a xx 
 Bid a suit above 2M as a short suit game try. 

 
Drury is ON over interference 

 

 

2. BROMAD-MODIFIED 

7 – 9 points and support after 1M – (x) 

 
1H – (x) - 2D =  7 – 9 points + 3 card support 
 
1S – (x) - 2H =  7 – 9 points + 3 card support  
 
and 
 
1H – (x) - 3D =  7 – 9 points + 4 card support 

1S - (x) - 3H =  7 – 9 points + 4 card support 

 



 

10+ and support after 1M – (x) 

 

1M – (x) – XX   then support = 3xM with 10+ 

1M – (x) – 2NT  = 10+ with 4xM support 

 

TRANSFERS AFTER 1M – (X) 

After 1M(x) all bids by responder from 1NT up to 2M – 1 are 
transfers.  These transfers can be the following: 

1s x 1NT (transfer to c) 

1s x 2c (transfer to d) 

1s x 2d (transfer to h) 

1h x 1s (natural) 

1h x 1NT (transfer to c) 

1h x 2c (transfer to d) 

 

(a) A weak hand – pass after transfer 
(b) Stronger hands that can make a further bid 
(c) Hands with support showing a side suit with values 

After the transfer bid opener can:- 

(a) Accept the transfer, unless having a void 
(b) Break the transfer by jumping in the suit (showing a good 

hand with a fit) 

 

3. TWO WAY CHECK BACK STAYMAN 

 

     1m-1M : 1NT 

 2C trf to 2d: O must bid 2d:- 

R can pass, bid any suit at 2 level or                  
2NT as invitational 



 2M is to play 

 2 other M – shows 4/4 and is invitational 

 2C trf to 2D then other major shows 5/4 and is 
invitational 

 2C trf to 2D and then a bid of a 2nd suit at 3 level shows 
5/5 and is invitational 

 2C trf to 2D and then bid 3 of M is invitational with a 6 
card suit 

 2NT trf to 3c 
 

GAME FORCE 

 2d is g/f 

 1m – 1M – 1NT – 3C g/f with 5/5 

 1m – 1M – 1NT – 3M g/f, slam invitational, showing a 1 
loser 6 card suit – opener to bid 3NT with xx and cue bid 
with xxx or Xx 

 1m – 1M – 1NT – 4M no slam interest with a 1 loser 6 card 
suit 

 1m – 1M – 1NT – 2D – 3M g/f broken 6 card suit 

 1x – 1y – 1NT – 2NT – 3C – 3D/H/S shortage 4441 hand 

 1c – 1d – 1NT – 3M shortage g/f 

 1m – 1H – 1NT – 3S/4C/4D splinter 

 1m – 1S – 1NT - - 4C/D/H splinter 
 

   

 
 

4. JACOBY 2NT 
 
1M – 2NT (4+ Trump support and opening + hand) 
 
3c   = short c 
3d   = short d 
3 other major  =  short Major 
3M   = 16+ (no shortage) 
3NT   = 14-15 (no shortage) 
4M   = 11-13 (no shortage) 
 
There is no Jacoby as a passed hand 
There is no Jacoby over interference 
 
 



 

 

5. GHESTEM 
 
Over oppositions opening:- 
 
2NT  = 5/5(min) in the 2 lower suits 
3c  = 5/5(min) in the 2 higher suits 
Cue bid  = 5/5(min) in the 2 extremes  

 

6. LEAPING MICHAELS 
 
Over weak 2M:- 
 
4c/d  = 5/5 (min) in that m and the other M 
 
Over weak 2d:- 
 
4d  = 5/5 (min) in both M 

 

7. 2/1  BART RESPONSES 
 
After partner opens 1M, in 1ST or 2nd, a 2/1 response is game 
forcing.  1NT is forcing for 1 round. 1d opening, in 1st or  
2ND, a 2c response is forcing for 1 round. 
 
The above is off over interference.  
 
OPENERS ACTIONS AFTER 1S – 1NT 
 
2C – genuine clubs or response of a balanced hand with no 
other second suit 
 
2D/2H – Natural 
 
2S – Natural 6+ card suit 
 
2NT – 18/19 balanced (or a good 17) 
 
3C – G/F – either with S + C; S + H; or just S. Responder 
accepts G/F by bidding 3D allowing O to show hand:- 
 3H G/F H + S 
 3S G/F S 



 3NT G/F S + C 
 4C G/F S + C shapely 
 
3D – G/F – with S + D 
 
3H – 5S + 5H invitational 
 
3S – invitational 6+S 
 
3NT – 6+ solid spades with 1 ½ tricks on side 
 
4S – an 8 trick hand in S 
 
RESPONDERS ACTIONS 1S – 1NT – 2C 
 
1. 2D – transfer to 2H (shows 5+ card suit):- 
 
Responder can:- 
 

 Pass 

 Bid 2S = 5H and 2S 8/10 pts 

 Bid 2NT = invitational with 5H 

 Bid 3C – invitational with 5H and 4C 

 Bid 3D – invitational with 5H and 5D 

 Bid 3H – invitational with 6H 

 Bid 3S – invitational with 5H and 3S 

 

2.  2H – Transfer to 2S:- 

Responder can:- 

Pass – 2/3S 5-7pts 

2NT – invitational to 3NT showing 4C 

3C – 5+C and invitational 

3D – 6+D and invitational 

3S – invitational with 3S and a singleton (Opener bids 3NT to 
find out where singleton is) 

3.  2S – 8-10 pts with doubleton spade 
4.  2NT – invitational but denies 4C 
5.  3C  - pre-empt in C 
6.  3D – pre-empt in D 
7.  3S – invitational 3S no singleton 

 



OPENERS ACTIONS AFTER 1H – 1NT 

2C – genuine clubs or response of a balanced hand with no 
other second suit 

2S – G/F. Responder accepts G/F by bidding 2NT allowing O to 
show hand:- 

 3C G/F H + C 

 3D G/F H + D 

 3H G/F H ONLY 

 3S G/F H + S, SHORT C 

 3NT G/F H + S, SHORT D 

3C invitational 5H + 5C 

3D invitational 5H + 5D 

 

RESPONDERS ACTIONS 1H – 1NT – 2C 

2D – Transfer to 2H 

Responder can:- 

 Pass 

 Bid 2NT – invitational with 4C 

 Bid 3C – invitational with 5+C 

 Bid 3D – invitational with 6+D 

 Bid 3H – invitational with 3H and a singleton. (Opener bids 
3S to find out where singleton is – 3NT by responder shows S 
singleton 

 

8 ACTIONS AFTER PARTNER OPENS 1NT: 

 Stayman 2c – 2NT  = both majors minimum 

   2c – 3c = both majors maximum 

   Partner must transfer into suit held 

   

Smolen After partner opens 1NT:- 
 
With 5/4 in the Ms and game going points bid 2c and if partner 
responds 2d jump to 3 of the 4 card M.  



If partner bids 3NT:- 
 
4d = transfer to H (6 card suit) 
4h = transfer to S (6 card suit) 

 

Artificial Slam Try after Stayman 
 
After 1NT open, 2c, stayman, and partner responds 2M a bid 

of the other M is a slam try, inviting opener to cue bid: 

1NT 2c 2S 3H = slam try 

1NT 2c 2H 3S = slam try 

 

Bertha 

With either 5/5 or 5/4 minors: 

1NT – 3c = 5C and 4D, no singleton 

1NT – 3d = 5D and 4C, no singleton 

1NT – 3H = 5C and 5D, H singleton 

1NT – 3S = 5C and 5D, S singleton 

 

Simpson 

With 4M and 5m first stayman and if no major fit:- 

  1NT – 2c/2d- 3c 

  3d = five card minor: 3h= which minor: 3s = 5c/3nt = 5d 

  3h = doubleton h 

  3s = doubleton s 

  3nt = no 5 card minor, no doubleton 

 

 

 

 

 



An enquiry to find out more about the shape of the 1 NT opening bidders hand 

i)  1NT – 2 / 2 – 3 

3 -doubleton  

3 = doubleton  

3 = doubleton  

3N = no doubleton 

ii) 1NT – 2 / 2 – 3 

3 = doubleton  

3 = doubleton  

3 = doubleton   

3N = no doubleton  

iii)  1N – 2 / 2 – 3 

3 = 5-card minor – 3 asks which and 3 = 5+ and 3N = 5+ 

3 = doubleton  – 3-2-4-4 (since a 5-card minor has been denied) 

3 = doubleton  

3N = no doubleton 

iv)  1N – 2 / 3 – 3 (3 here shows 4/4 in Majors, max., so must have a doubleton 
minor) 

3N = doubleton  

4 = doubleton  

v)  1N – 2 / 2N – 3 (2N here shows 4/4 in Majors, min., so must have a doubleton 
minor)  

3 = doubleton   

 3 = doubleton  – 4-4-3-2 

Note that after a response to a Simpson enquiry, 4m is Keycard in the minor suit bid. The 
exception to this is if a 3-3-3-4 or 3-3-4-3 shape is shown by 1NT opener: in this case the 4m 
bid is treated the same as over a 2NT opening – cue to co-operate with slam probe (with 4c 
support or suitable 3c support), 4NT otherwise. 

 



With 5M and 4m, game force and a singleton: 

a) 1NT – 2d 
2H – 2S (enquiry) 
2nt (describe your hand) –  3c =  4c 1d 
    3d =  4c 1s 
    3h =  4d 1c 
    3s =  4d 1s 

b) 1NT – 2H 
2S – 2nt (enquiry) 
3c (describe your hand) - 3d =  4c 1d 
    3h =   4c 1h 
    3s =  4d 1c 

3nt =  4d 1h 

    9. MULTI 2D 

Weak in the majors:- 

2d – p – 2H pass or correct 

2d – p – 2S more interested in H 

2d – p – 2NT enquiry:- 3c = 8 – 10 pts – nothing to do with suit 

     3d enquires which suit 

     3h shows 6 spades 

     3s shows 6 hearts 

    3d = 4 – 7 pts and a 6 card H suit 

    3h = 4 – 7 pts and a 6 card S suit     

2d – p – 3H pass or correct 

2d – p – 4H to play 

2d – p – 4S to play 

2d –p – 4c bid the suit under your major 

2d – p – 4d bid your major 

2d – 3d – 4d pick your major 

2d – 3d – x penalties 

2d – 3d – 4H to play 

2d – 3d – 4S to play 



2d – 3d – 4c to play 

 

Strong Hand:  4441 18-24pts 

After 2d – 2h Opener will bid the suit below the singleton: 

2NT  =  singleton c 

3c = singleton d 

3d = singleton h 

3h = singleton s 

Responder will bid the singleton to enquire further. If they don’t bid the singleton any other 
bid sets the contract irrespective of opener’s hand. 

The bid of the singleton is an enquiry as to point range:- 

18 – 21 points is one step up 

22 – 24 points is 2 steps up 

Responder will either set the contract (3nt is to play) or will bid the next suit up as an 
enquiry for the number of controls (A=2; K=1). 

If opener has shown 18 – 21 points the number of controls starts from 4 with step responses  

If opener has shown 22 – 24 points the number of controls starts from 6 with step 
responses. 

Responder will set the contract or will bid the next suit up as an enquiry for the number of 
queens.  

 

     10. HAMILTON – over  Weak  No Trumps 

2c - both Ms (could be 4/4) 

2c – 2d equal no. in both Ms 

2d - an undisclosed 6 card M 

2d – 2H   pass or correct 

2H -   5 H and min 4m  

2H - 2NT show your m 

2H – 3c   to play 



2H – 3d    to play 

2S -   5 S and min 4m 

2S - 2NT  show your m 

2S – 3c    to play 

2S – 3d   to play  

2NT -   5/5 in the ms 

 

     11. MULTI LANDEY over Strong No Trumps 

 X A longer Minor, shorter Major 

 X – 2c pass or correct 

 X – 2d bid your major 

 X - 2H to play 

 X – 2S to play 

 All other Hamilton bids apply 

 Interference over 1NT: 

 1NT – 2C (MAJORS) – X – PASS (happy to play in 2c X) 

 1NT – 2C – P – 2d (equal  length you choose) 

 1NT – 2C – X – XX (pick your major) 

 1NT – 2C – X – 2d (to play) 

 

     12. SERIOUS AND NON SERIOUS SLAM TRIES 

If H agreed: 3S non serious (suit up) 

  3NT serious slam try with S cue 

  4C/D serious cue 

If S agreed: 3NT non serious slam try (suit up) 

  4C/D/H serious cue 

 



     13. MIXED RAISES 

A mixed raise is a jump in the suit below the one opened/overcalled in a competitive auction 
and shows 4 trumps and 7 – 9points 

 

     14. KOKISH 

After 2C opening: 

2D = 4+ points (at least 1 Ace, a King or 2 Queens) 

2H = 0-4 points 

2S/3C/3D = 5+ card suit headed by 2 of the top 3 honours 

2NT = 5+card H suit headed by 2 of the top 3 honours 

A jump in suit shows a 6+ card one loser suit 

 

After 2D response to a balanced hand: 

2C – 2D – 2NT  22-23 

2C – 2D – 2H – 2S – 2NT 24-25 

2C – 2D – 3NT  26-27 

2C – 2D – 2H – 2S – 3NT 28-29 

2C – 2D – 4NT  30-31 

 

After 2D response to an unbalanced hand: 

2C – 2D – 3D  6+D and no 4 card major 

2C – 2D – 3H/S  6+D and 4 H/S 

2C – 2D – 3C 6+C – R must bid 3D to see if opener has a 4 card major and 3M 
shows a 5 card M 

2C – 2D – 2H Partner must bid 2S and if opener has only H they bid 3H and if 

 H and a minor a bid of 3C/D shows 5H and min 4 of the minor 

2C – 2D – 2S 5+ S suit  

 



After 2H response to a balanced hand: 

2C – 2H – 2NT 22-24 

2C – 2H – 3NT 25+ 

 

After 2H response to an unbalanced hand: 

2C – 2H – 2S forces 2NT from responder and any bid at the 3 level is non forcing 

2C – 2H – any new suit at 3 level is forcing 

 

     15. 1 MAJOR – 3NT 

 1S – 3NT  9 – 12 Points and an unspecified splinter 

 4C  Asks for shortage: 

   4D = D singleton 

   4H = H singleton 

   4S = C singleton 

 1S – 4C  Club void 

 1S – 4D  Diamond void 

 1S – 4H  Heart void 

 

 1H – 3S  9 – 12 Points and an unspecified splinter 

 3NT  Asks for shortage:- 

   4C = C Singleton 

   4D = D Singleton 

   4H = S Singleton 

 1H – 3NT Spade void 

 1 H – 4C Club void 

 1H – 4 D Diamond void 

 



 

 

16. DUTCH 2’S 

 2H  Hearts and a minor (minimum 5/5) 

   2S – Natural 1 round force 

   3C – Pass or correct 

   3D – Invitational raise in hearts 

 

   2NT – Enquiry  3C minimum with C 

     3D minimum with D 

     3H maximum with C 

     3S maximum with D 

  

  2S Spades and another (minimum 5/5) 

   3H – Natural and Invitational 

   3C – Pass or correct 

   3D – Invitational raise in S 

   2NT – Enquiry 3C minimum with C 

     3D minimum with D 

     3H natural 

     3S maximum with C 

     3NT maximum with D 

 

17. BERGEN RAISES 

 1S 3C - 10/11 Dummy Points with 4 Card Support 

  3D - 7/9 Dummy Points with 4 Card Support 

  3S - 2/6 Dummy Points with 4 Card Support 



 1H 3C - 10/11 Dummy Points with 4 Card Support 

  3D - 7/9 Dummy Points with 4 Card Support 

  3H - 2/6 Dummy Points with 4 Card Support 

 

18. BIDDING OVER 2NT 

 a) 3C = Stayman.  If partner responds in a major then a bid at 4 level is a cue. 

3C – 3D and a major is bid = smolen (showing 4 of the bid major and 5 of the other). 

3C – 3D and 4 of a minor is bid that is natural showing 5+ in the minor.  With 3 card 
support partner will cue or use 4NT as a sign off. 

3c – 3NT 4/4 both majors – partner transfers into suit held 

 b) 3D and 3H are transfers.  Partner takes transfer with 2 card support. 

i) 2NT -3H-3S shows 2S and a further bid of 4 of a minor is natural – with 3 or 
less of minor partner bids next suit up and any other bid is response to 
keycard 

ii) 2NT – 3H – 3NT shows 3card support and retransfers apply 

iii) 2NT – 3D/3H (transfer) – with 4 card support opener breaks the transfer 
showing a source of tricks and if there is room retransfers apply. 

c) 2NT – 3S is Minor suit stayman (promising slam interest and both minors 4/4 at 
least).  3NT by opener denies a 4 card minor and a minor shows 4+ in that minor. 

i) If opener bids 3NT then a bid of 4m shows 5+ cards and invites a cue.  
Opener cues with 3 card support or bid 4NT to play. 

ii) If opener has responded 4m then a bid of the next suit up by responder 
would be Keycard. 

 d) 2NT 3NT is to play 

e) 2NT 4m is natural with 5+ cards in minor inviting opener to cue with 3+card support 
or revert to 4NT to play. 

f) 2NT – 4H/S – to play  

 2NT – 3D – 3NT – 4S keycard in H 

 2NT – 3H – 3NT – 4NT keycard in S 

 



 

19   GAMBLING 3NT 

A solid minor of 7+ cards (holding minimum AKQ) and denies an outside A or K 

Partner can: 

(a) Pass holding cover in the other suits 
(b) Bid 4c – pass or correct – if weak 
(c) Bid 4M – to play 
(d) Bid 5c – pass or correct 
(e) Bid 4d on a strong hand with interest in slam.  It asks partner to show shortage if held: 

(i) If partner has a shortage in a M they bid it  
(ii) If partner has a shortage in a m they bid their own solid minor 
(iii) With no shortage they bid 4NT 

       Defence to Gambling 3NT 

(a) X = strong balanced 
(b) 4c = short in D and take out (4d = bid your longer major) 
(c) 4d = short in C and take out 

        

20   NAMYATS 

An opening of 4c shows a good 4H opener – 8/9 playing tricks 7+ solid suit (no outside A or K) or 
a one loser suit with an outside A. 

An opening of 4d shows a good 4S opener – 8/9 playing tricks 7+ solid suit (no outside A or K) or 
a one loser suit with an outside A. 

Responder can:- 

(a) Bid relay step asking O to show a shortage if held 
(b) Bid 4M to play 
(c) Use RKCB – over 4c – 4s 

                     Over 4d – 4NT 

        Defence to Namyats: 

(a) Over 4c x = very strong and balanced/ 4d x = very strong and balanced 
(b) 4c p 4h p p x = very strong with shortage/4d p 4S p p x = very strong with shortage 
(c) 4c 4h = 5S and 5m/ 4d 4S = 5H and 5m 
(d) 4c 4nt = 5c and 5d/ 4d 4nt = 5c and 5d 
(e) 4c 4S = 5 S/ 4d 4h = 5h 

 
 



21   GLADIATOR 

         3 anything – 3NT – 

(a) 4c = Stayman 4d = no major 
4M = 4 card major 
4NT = bid was made on long solid minor 

(b) 4d = a weak transfer to a major (6 card suit). Partner bids 4h pass or correct to 4s 
(c) 4h/4s = 5 card suit with mild slam try – partner can pass, bid 4nt, cue or bid slam 
(d) 4nt = quantitative 

 

22   1M 1NT/ 2NT  

         1S – 1NT 

         2NT -  3c Transfer to 3d 

   Over 3d R can  

(a) Pass 
(b) 3h = 5H balanced GF 
(c) 3s = 6c GF 
(d) 3nt = 6d GF 

3d Transfer to 3h 

Over 3h R can 

(a) Pass 
(b) Bid 4h 
(c) Bid 3s = 5/5 in minors weak = 4m is to play 
(d) Bid 3nt = 5/5 in minors 9 to 11 points and 4m is keycard 

3h Transfer to 3s 

Over 3s R can 

(a) Pass 
(b) Bid 4s 
(c) Cue 

1H – 1NT 

2NT -  3c Transfer to 3d 

  Over 3d R can 

(a) Pass 
(b) 3S = 6c GF 



(c) 3NT = 6d GF 

 

3d Transfer to 3h 

Over 3h R can 

(a) Pass, raise to 4h or cue 
(b) 3S = 5/5 minors weak = 4m is to play 
(c) 3NT = 5/5 minors 9 – 11 points and 4m is keycard 

  

  

 

      

 

 

  

  

  

 

   

 

 


